Validate	Print Help Percentage	BoQ				
Tender Inviting Autho	rity: Staff Officer(Civil), Kuju Area					
Name of Work : Provi	ding office rooms at premises of rest shelter at Karma OCP,	kuju area.				
	Category of Services (To Be Selected by Department)	Category of Bidder(To Be Selected by Bidder)	To Be Entered by Department			
ITC Not Available	Works Contract	Bidder's Status (Mandatory)	Rate of GST (in %)	GST to be Paid By Bidder (in Rs.)	GST to be Paid By CIL/Subsidiary (in Rs.)	
Name of the Bidder/ Bidding Firm / Company :			Select	18.00	0.00	0.00
(This BOQ templat	e must not be modified/replaced by the bidder and the same	should be uplo	PRICE SCHEDULE baded after filling the relevent co Name and Values only)	olumns, else the bidder is	liable to be rejected for	this tender. Bidders are allowed to enter the Bidder
NUMBER #	TEXT #	NUMBER #	TEXT #	NUMBER	NUMBER #	TEXT #
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT in Rs. P	TOTAL AMOUNT In Words
1	2	3	4	5	6	7
0	Item Description/ Heading					
1	Part-A(03 Rooms) : Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil.	30.73	s cum	213.13	6549.48	INR Six Thousand Five Hundred & Forty Nine and Paise Forty Eight Only
2	Supplying and filling in plinth with Jamuna sand under floors, including watering, ramming, consolidating and dressing complete.	9.75	cum	835.58	8146.91	INR Eight Thousand One Hundred & Forty Six and Paise Ninety One Only
3	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 1:3:6 (1 Cement : 3 coarse sand (zone-III) derived from natural sources : 6 graded stone aggregate 20 mm nominal size derived from natural sources)	9.75	cum	5763.93	56198.32	INR Fifty Six Thousand One Hundred & Ninety Eight and Paise Thirty Two Only
4	Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level :1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size)	4.27	' cum	7140.65	30490.58	INR Thirty Thousand Four Hundred & Ninety and Paise Fifty Eight Only

5	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15° landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral	3.10	cum	8748.68	27120.91	INR Twenty Seven Thousand One Hundred & Twenty and Paise Ninety One Only
	stair cases up to floor five level, excluding the cost of centering, shuttering, finishing and reinforcement, with 1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size).					
6	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation .5 in foundation and plith in: Cement mortar 1:6 (1 cement : 6 coarse sand)	25.64	cum	4782.19	122615.35	INR One Lakh Twenty Two Thousand Six Hundred & Fifteen and Paise Thirty Five Only
7	Brick work with common burnt clay F.P.S. (non modular) bricks of classdesigantion .5 in supersturcture above plinth upto loor V level in al shape and sizes In : Cement mortar 1:6 (1 cement : 6 coarse sand)	41.51	cum	5907.48		INR Two Lakh Forty Five Thousand Two Hundred & Nineteen and Paise Forty Nine Only
8	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level.: Cold twisted bars	737.00	kg	93.24		INR Sixty Eight Thousand Seven Hundred & Seventeer and Paise Eighty Eight Only
9	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	864.00	kg	94.82	81924.48	INR Eighty One Thousand Nine Hundred & Twenty Fou and Paise Forty Eight Only
10	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete.Fixed to openings /wooden frames with rawl plugs screws etc.	97.20	kg	139.51		INR Thirteen Thousand Five Hundred & Sixty and Paise Thirty Seven Only
11	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift upto 1.5 m.	36.96	cum	173.71	6420.32	INR Six Thousand Four Hundred & Twenty and Paise Thirty Two Only
12	12mm cement plaster o mix : 1 : 6 (1 cement : 6 fine sand)	400.82	sqm	204.00		INR Eighty One Thousand Seven Hundred & Sixty Seven and Paise Twenty Eight Only
13	6 mm cement plaster of mix : 13.16.1 1:3 (1 cement : 3 fine sand)	14.58	sqm	185.54		INR Two Thousand Seven Hundred & Five and Paise Seventeen Only
14	Finishing walls with water proofing cement paint of required shade : 13.44.1 New work (Two or more coats applied @ 3.84 kg/10 sqm)	209.12	sqm	74.99	15681.91	INR Fifteen Thousand Six Hundred & Eighty One and Paise Ninety One Only
15	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade : New work (two or more coats) over and including water tinnable priming coat with cement primer.	206.28	sqm	120.25		INR Twenty Four Thousand Eight Hundred & Five and Paise Seventeen Only
16	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade : Two or more coats on new work	75.71	sqm	103.04	7801.16	INR Seven Thousand Eight Hundred & One and Paise Sixteen Only
17	Cement plaster skirting up to 30 cm height, with cement mortar 1:3 (1 cement : 3 coarse sand), finished with a floating coat of neat cement. 11.6.1 18 mm thick	24.12	sqm	408.09	9843.13	INR Nine Thousand Eight Hundred & Forty Three and Paise Thirteen Only
18	Centering and shuttering including strutting, propping etc. and removal of form for Lintels, beams, plinth beams, girders, bressumers and cantilevers	57.65	sqm	439.64	25345.25	INR Twenty Five Thousand Three Hundred & Forty Fiv and Paise Twenty Five Only
19	Centering and shuttering including strutting, propping etc. and removal of form for Weather shade, Chajjas, corbels etc., including edges	7.29	sqm	405.37	2955.15	INR Two Thousand Nine Hundred & Fifty Five and Paise Fifteen Only

20	Making plinth protection 50 mm thick of cement concrete 1:3:6 (1 cement: 3 coarse sand : 6 graded stone aggregate 20 mm nominal size) over 75mm thick bed of dry brick ballast 40 mm nominal size, well rammed and consolidated and grouted with fine sand, including finishing the top smooth.	20.99	sqm	579.33	12160.14	INR Twelve Thousand One Hundred & Sixty and Paise Fourteen Only
21	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete. 11.3.1 40 mm thick with 20 mm nominal size stone aggregate	75.80	sqm	438.37	33228.45	INR Thirty Three Thousand Two Hundred & Twenty Eight and Paise Forty Five Only
22	Making of drain 150mm x150mm	20.00	mtr	718.19	14363.80	INR Fourteen Thousand Three Hundred & Sixty Three and Paise Eighty Only
23	12 mm cement plaster finished with a floating coat of neat cement of mix :13.7.2 1:4 (1 cement: 4 fine sand)	8.10	sqm	268.81	2177.36	INR Two Thousand One Hundred & Seventy Seven and Paise Thirty Six Only
24	Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer, including welding and bolted with special shaped washers etc. complete.Electric resistance or induction butt welded tubes	545.80	kg	105.95	57827.51	INR Fifty Seven Thousand Eight Hundred & Twenty Seven and Paise Fifty One Only
25	Providing corrugated G.S. sheet roofing including vertical / curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/ vertical or curved surfaces), excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required. 0.63 mm thick with zinc coating not less than 275 gm/ m ²	91.35	sqm	760.24	69447.92	INR Sixty Nine Thousand Four Hundred & Forty Seven and Paise Ninety Two Only
26	Extra for providing and fixing wind ties of 40x 6 mm flat iron section.	40.60	mtr	131.50	5338.90	INR Five Thousand Three Hundred & Thirty Eight and Paise Ninety Only
27	Part- B (Wall for making 5 nos rooms) : Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift upto 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil.	17.15	cum	213.13	3655.18	INR Three Thousand Six Hundred & Fifty Five and Paise Eighteen Only
28	Supplying and filling in plinth with Jamuna sand under floors, including watering, ramming, consolidating and dressing complete.	6.74	cum	835.58	5631.81	INR Five Thousand Six Hundred & Thirty One and Paise Eighty One Only
29	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 1:3:6 (1 Cement : 3 coarse sand (zone-III) derived from natural sources : 6 graded stone aggregate 20 mm nominal size derived from natural sources)	6.74	cum	5763.93	38848.89	INR Thirty Eight Thousand Eight Hundred & Forty Eight and Paise Eighty Nine Only

30	Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level :1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size)	2.38	cum	7140.65		INR Sixteen Thousand Nine Hundred & Ninety Four and Paise Seventy Five Only
31	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15° landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to floor five level, excluding the cost of centering, shuttering, finishing and reinforcement, with 1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size).	1.84	cum	8748.68	16097.57	INR Sixteen Thousand &Ninety Seven and Paise Fifty Seven Only
32	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation .5 in foundation and plith in: Cement mortar 1:6 (1 cement : 6 coarse sand)	18.50	cum	4782.19		INR Eighty Eight Thousand Four Hundred & Seventy and Paise Fifty One Only
33	Brick work with common burnt clay F.P.S. (non modular) bricks of classdesigantion .5 in supersturcture above plinth upto loor V level in al shape and sizes In : Cement mortar 1:6 (1 cement : 6 coarse sand)	13.73	cum	5907.48		INR Eighty One Thousand One Hundred & Nine and Paise Seventy Only
34	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level.: Cold twisted bars	422.00	kg	93.24		INR Thirty Nine Thousand Three Hundred & Forty Seven and Paise Twenty Eight Only
35	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	864.00	kg	94.82		INR Eighty One Thousand Nine Hundred & Twenty Fou and Paise Forty Eight Only
36	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete.Fixed to openings /wooden frames with rawl plugs screws etc.	185.63	kg	139.51	25897.24	INR Twenty Five Thousand Eight Hundred & Ninety Seven and Paise Twenty Four Only
37	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift upto 1.5 m.	5.72	cum	173.71		INR Nine Hundred & Ninety Three and Paise Sixty Two Only
38	12mm cement plaster o mix : 1 : 6 (1 cement : 6 fine sand)	226.26	sqm	204.00	46157.04	INR Forty Six Thousand One Hundred & Fifty Seven and Paise Four Only
39	6 mm cement plaster of mix : 13.16.1 1:3 (1 cement : 3 fine sand)	10.80	sqm	185.54	2003.83	INR Two Thousand &Three and Paise Eighty Three Only
40	Finishing walls with water proofing cement paint of required shade : 13.44.1 New work (Two or more coats applied @ 3.84 kg/10 sqm)	67.80	sqm	74.99	5084.32	INR Five Thousand &Eighty Four and Paise Thirty Tw Only
41	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade : New work (two or more coats) over and including water tinnable priming coat with cement primer.	169.26	sqm	120.25		INR Twenty Thousand Three Hundred & Fifty Three and Paise Fifty One Only
42	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade : Two or more coats on new work	66.33	sqm	103.04		INR Six Thousand Eight Hundred & Thirty Four and Paise Sixty Four Only
43	Cement plaster skirting up to 30 cm height, with cement mortar 1:3 (1 cement : 3 coarse sand), finished with a floating coat of neat cement. 11.6.1 18 mm thick	10.44	sqm	408.09		INR Four Thousand Two Hundred & Sixty and Paise Forty Six Only
44	Centering and shuttering including strutting, propping etc. and removal of form for Lintels, beams, plinth beams, girders, bressumers and cantilevers	33.51	sqm	439.64		INR Fourteen Thousand Seven Hundred & Thirty Two and Paise Thirty Four Only
45	Centering and shuttering including strutting, propping etc. and removal of form for Weather shade, Chajjas, corbels etc., including edges	6.48	sqm	405.37		INR Two Thousand Six Hundred & Twenty Six and Paise Eighty Only

ioted Rate in Wor	rds	INR Zero Only					
uoted Rate in Figures			Select		0.00	INR Zero Only	
tal in Figures						INR Sixteen Lakh Twenty Four Thousand Seven Hundred & Seventy Five and Paise Ninety Six Only	
53	Total impact of GST for the purpose of CTC	1.000	Nos	0.00		INR Zero Only	
52	Extra for providing and fixing wind ties of 40x 6 mm flat iron section.	16.50	mtr	131.50		INR Two Thousand One Hundred & Sixty Nine and Paise Seventy Five Only	
51	Providing corrugated G.S. sheet roofing including vertical / curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/ vertical or curved surfaces),excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required. 0.63 mm thick with zinc coating not less than 275 gm/ m ²	54.45	sqm	760.24		INR Forty One Thousand Three Hundred & Ninety Fiv and Paise Seven Only	
50	Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer, including welding and bolted with special shaped washers etc. complete.Electric resistance or induction butt welded tubes	75.00		700.04		INR Seven Thousand Nine Hundred & Forty Six and Paise Twenty Five Only	
49	12 mm cement plaster finished with a floating coat of neat cement of mix :13.7.2 1:4 (1 cement: 4 fine sand)	10.00	sqm	268.81		INR Two Thousand Six Hundred & Eighty Eight and Paise Ten Only	
48	Making of drain 150mm x150mm	15.00	mtr	718.19	10772.85	INR Ten Thousand Seven Hundred & Seventy Two and Paise Eighty Five Only	
47	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete. 11.3.1 40 mm thick with 20 mm nominal size stone aggregate	50.33	sqm	438.37		INR Twenty Two Thousand &Sixty Three and Paise Sixteen Only	
46	Making plinth protection 50 mm thick of cement concrete 1:3:6 (1 cement: 3 coarse sand : 6 graded stone aggregate 20 mm nominal size) over 75mm thick bed of dry brick ballast 40 mm nominal size, well rammed and consolidated and grouted with fine sand, including finishing the top smooth.	7.43	sqm	579.33		INR Four Thousand Three Hundred & Four and Paise Forty Two Only	